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IEE#:n -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12
4Ry FE 5 -3 2 -1 1 0 1 1 2 3 5 8 13 21 34 55 89 144
Fn -1-2=-3  1-(-1)=2  0-1=—1 1-0=1 0 1 0+1=1 1+1=2 1+2=3 243=5 3+5=8 .. (144/89)
Fn=F(n-2) +F(n-1) T, 1)1 1.618
Fn={® " n—(-¢)"n}/¥5 O=(1+/5)/2=1.618, ¢ =(J/ 5-1)/2=0.618
)ah#5| 7 -4 3 -1 2 1 3 4 7 11 18 29 47 76 123 199 322
Ln 3~(-4)=7 —-1-3=—4 2-(-1)=3 1-2=-1 2 1 2+1=3  1+3=4  3+4=7 4+7=11 T+11=18 . .. (322/199)
Lh=L(n-2) +L(n-1) T. 1)1 1.618
Ln=® " n+(-¢)"n (IEBH#nDKRELGEHEIZHEYEHLEDLERIESLIZHE D)
SFa¥F 12 -7 5 -2 3 1 4 5 9 14 23 37 60 97 157 254 411
Mn 5-(-7)=12 -2-5=-7 3-(-2)=5 1-3=-2 3 1 3+1=4 1+4=5 4+5=9 5+9=14 9+14=23 (411/254)
Mn=M(n-2) +M(n-1) T, DIHE 1618
Mn={DP n+(-¢) ' nld +45)/4 5 ==L n>0
%z L] -9 6 -3 3 0 3 3 6 9 15 24 39 63 102 165 267 432
Kn -3-6=-9 3-(-3)=6  0-3=-3 3-0=3 0 3 0+3=3 3+3=6 3+6=9  6+9=15 9+15=24 (432/267)
Kn=K(n-2) +K(n-1) T, DF/E (=3Fn ) 1.618
Kn=3{®"n—(-¢)"n}/¥ 5
Tk =85 14 -6 8 2 10 12 22 34 56 90 146 236 382 618 1000 1618 2618
FMn X y [0) 1 o P72
FMn=FM(n-2) +FM(n-1) . (xEyZEEDY) —OFITHEx=10. y=12 _Aar
RO T RF YT — . ThR=HIE. ENENDHEITESF=RYDKICEMLIHINIZT DL ETHTFLKM
BEGAT HLOLLT FMin =FLKMochain (mod 9) RAUOERD I HELTHRT 5,
., Ihv=LlFN= 1l -
D OMERLT. R F%%|: [01,1,235843,718,0887641,5628,1)
RICBCEVNS B AT L%%): [02246,1,7865.270,7,7538.21,3,4,72) 24IBE CHRIRT S
ROTINAVALTY, K%5: [03369663033606.6393360663])
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[0,4,48,3,25,73,145055,1,6,7426,38,54)]
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